Alfa Romeo Challenge 2014 KANSA| Rd.4 & KANTO Rd. 5

Race B+ C
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2014.11 03 xig Hh 2—Z%KR K54 FWEEY —% v k3. 703km
IBf 5F& REHIE FS54/13— ETIL HA Al AREER km/h  by7" A AM{LEE
1 7 1T 1 e & 1562% K224 -JSPL156 10 17°54.203 124.099 1'45.227 2
26 55 1 2 W He 156GTA unicorsel56GTA 10 18°04.817 122.885 10.614 1'46.067 2
3 5 1 3 B K7 GTV Alfa Romeo GTV 10 18'05.257 122.835 11 054 1'46.405 2
4 1 2 1 Etx - 156GTA AT4L=7-156age D 10 18°08.305 122.491 14.102 1'46.448 3
5 20 5 1 RE AMA 156V6 K-ENG156V6 10 18'28.459 120.264 34.256 1'48.463 2
6 40 4 1 A E# VOLVO V40 ERST Racing V40 10 18'49.777 117.995 55.574 1'51.473 8
7 355 5 2 @4 Ez GTV %> < 1 GTV DXL 10 18'52.346 117 727 58.143 1'50.950 7
8 10 6 1 K& E#H 156GTA AT4LZ7-156%h~ 10 18'55.772 117.372 1 01 569 1'50.557 8
9 22 B 1 BB ## 156GTA h" 590 234 ¥ 37 GTA 10 1857 571 117 187 1°03.368 1'51.016 10
10 38 3 1 BXx #& 145TS QV 1220t 145ANDARE 10 19°08.667 116.055 1 14.464 1'52.748 3
il 592 3 2 EBR BEXAS 145TS K-ENG145 10 19°10.688 115.851 1 16.485 1'52.227 7
12 84 9 1 E®EiE =9 145TS 1zapt145Selenia 10 1921 167 114.805 1 26.964 1'53.507 5
13 12 5 3 &H &N 156GTA BOCCAROSSO-156 10 1921 952 114.728 127 749 1'49.925 9
14 35 A1 R B— 156TS LubrossGirasole156 10 19°24.345 114.492 1'30.142 1'53.812 9
155 1] A 2 hEH R%BER 145 EDEN-AT 10 19°28.491 114.086 1 34.288 1'54.764 4
16 98 C 1 #WxR RE W Y 194V AT MM Y 195 10 19°48.853 112.132 1 54.650 1'54.931 9
17 600 E 1 B Tk Porsche 996 A hy1996GT3A M-+ 9 1810.126 110.058 d&ltap: = =1857:1632: " =2
18 200 4 2 PlB B— VW GOLF2 BEBEMNE-DI WD 9 1811 849 109.884 1 Lap 1'53.987 5
19 217 4= 3 e R — BMW 135i BASIS BMW 135 9 18°12.300 109.839 1:LEap:  1:57.748 7
20 69 D 1 g =g 156GTA CLR156IN" =4" )=y 9 18°13.118 109.757 1 Lap 1'58.850 5
21 88 9 2 H#HLI #EXx 14778 1za4k147 9 1813.819 109.687 1 Lap: - 1:57:239: 9
22 30 8 1 S& - W GolfV EUROstage-Golf5 9 18°14.410 109.627 1 Liap . 19558022 8
23 36 D 2 X#8 88X 147GTA 1ZaME147GTA R 9 1815.350 109.533 1 Lap 1'57.614 9
24 213 7 1 $E =X Citroen SAXO SBT SAX0 9 18'22.252 108.847 1 Lap 158104 5
25 212 1 2 #T Rk SZ t=A 73 %S 177 9 18'25.309 108.546 1 Lap 1'58.841 7
26 3 C 2 £&% A& VW 6R POLO GTI &/ 6R& nGTI 9 18°34.110 107.689 1 Lap 1'58.832 8
27 216 7 3 ®@E RF BMW Z3 BASIS Z3 ACRE 9 1844.891 106.657 1 Lap 1'56.487 5
28 202 7 4 BH ## Peugeot 306 7"y 3-306 9 19°16.586 103.734 1 Lap 2'03.156 7
29 21 5 4 %2 gE 147GTA ottantsei147GTA 8 15°04.090 117 960 2 Laps 149.678 2
30 8 1 4 #HiR 15624 12244156 7 12'38.422 123.039 3 Laps 1'45.783 2
3l 32 A3 KRB Ez 155V6 K-ENG¥ 155V6 k£ 2 4°22.047 101 744 8 Laps 2'01.431 2

25 ARKS 1=SR. 2=SR(¥E). 3=SR2. 4=SS300, 5=MR300, 6=MR300(%&). 7=SS200. 8=VWA-C-1. 9=MR200

A=MR200 (%) . B=AR300. C=VWA-C-2. D=AR150-1, E=SC-4
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1 45.227

2/10 126. 686km/h



